LR BI%-4 fiR%%

2. (1)

(2)

(3)

(4)

E=E
EPU AT
ETLATE
EAATE
1ExfiE

B3~ [~

3+2+2

4+3+3 ZS;?X

5+4+4
6+5+5

x+x—-14+x-1=3x-2

1053 (10IK§3053 7~ 5 101K§4053 % )

X Hh D AR DR y (kn)

BEDF 4
A

gx=_"L #pe,
10

1
10

ZHITHE (40, 2) A RAT A

L
Aﬁw%o
1 10 20 30 40 50 60
—x40+bH=2
10
_ 1
ko b= yoT, y-—x-2
10
80 2
80m = ——km = —km
1000 25

2
yEooeA b sig G0, 9 ERALT,

2 12 32
S x30+b=4 hed4-= 2%
25 £ 5 5

2 2 ¢
Lo, y:—zgx+%; (X D H B OHE)

“oRe (2) Chkibi yzl—lox—Z BT R AR T

140 2
x=—=46— 1085 46 245
3 3 3

AN


http://kore.mitene.or.jp/~tohru/itikan-4m.pdf
http://kore.mitene.or.jp/~tohru/mokuji-3.htm

200 i
(1) {E,E%:—T =-50 T, HAZHED, it v (m)

800

y=-50x

600

(2) PRk

400
(3) (6, —200) ZEV, fHX500DER

& xifih & DR R OEIEZ KD D,

200

y=500x+b
500x 6+b=-200 b =-3200 BB
DE 0
y = 500x — 3200 Yoo
Xl & DA OREREIE 1T y =0 o 200
EBNT o
500x — 3200 = 0
3200 32 _ 2 24
“S0 5 5 e 6532477

4) @O H@, 0)0x@EY, EX1800EM (KNP OFEDOER)

y = 180x + b 180x4+b =0 b =-720
y = 180x - 720
y =500x—3200......... @

Z i<
y=180x-720......... @

500x — 3200 = 180x — 720
320x = 2480

_2480 3 45
T30 7T e AR

(

N
53



